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• ke = âhe Ùee  pee BÛe  k e âj  ue W e fke â F me  Ø e Mve -he $e  ce W c e ge fõle  he =‰ 15 leL e e             

Øe Mve  20 nQ ~ 

Please make sure that the printed pages in this 

question paper are 15 in number and it contains 

20 questions. 

• Øe Mve -he $e  ceW oe e fnve s ne L e k e âe r De e sj efoÙe s ie Ùe s keâes[ vecyej le L e e mesš ke âe s Úe$e  

Gòe j -h e ge fml e ke âe  ke s â  ce gKÙe -he =‰ he j  e fue Ke W ~ 

The Code No. and Set on the right side of the 

question paper should be written by the candidate 

on the front page of the answer-book. 

SET : B 
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• ke = âhe Ùee  Øe Mve  ke âe  G òe j  e fue Ke ve e Me g™ k e âj ve s mes he nue s , Øe Mv e  ke âe  ›e â cee b ke â  De Je MÙ e 

e fue Ke W ~ 

Before beginning to answer a question, its Serial 

Number must be written. 

• Gòe j -h e ge fml e ke âe  ke s â  ye e rÛe  cesb  Ke e ue er h e vve e /he vve s ve  Úe sÌ [W ~ 

Don’t leave blank page / pages in your answer-book. 

• Gòej-hegefmlekeâe kesâ Deefleefjkeäle keâesF& DevÙe Meerš veneR efceuesieer~ Dele: 

DeeJeMÙekeâleevegmeej ner efueKeW Deewj efueKee Gòej ve keâešW ~ 

Except answer-book, no extra sheet will be given. Write 

to the point and do not strike the written answer. 

• he j er#e eL ee a De he vee  je sue  ve b 0 Øe Mv e -he $e  he j  De Je MÙe  e fue Ke W~ 

Candidates must write their Roll Number on the 

question paper. 

• ke = âhe Ùee  Øe Mve eW ke âe  Gòej  osves me s he tJe & Ùe n me ge fve e fMÛe l e  ke âj  ue W e fke â Øe Mve -he $e  he tCe& 

Je  me ne r nw , hejer#ee kesâ Ghejevle Fme mecyevOe ceW keâesF& Yeer oeJee mJeerkeâej 

veneR efkeâÙee peeÙesiee ~ 

 Before answering the question, ensure that you have 

been supplied the correct and complete question 

paper, no claim in this regard, will be 

entertained after examination. 
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meeceevÙe efveos&Me : 

(i)  meYeer heÇMve DeefveJeeÙe& nQ ~ 

(ii) he ÇlÙe ske â heÇMve  ke s â  e fve Oee &e fj le  De b k e â G me k e sâ me e ce v es oMe e &S  ieS  nQ ~  

(iii) he ÇMve  meb KÙe e 1 ke âes iÙeejn (i-xi) J e mle ge fve … h e ÇMve e W ce W ye e Bše ie Ù ee  nw~ 

he ÇlÙe ske â heÇMve  1 De b ke â k eâ e  nw~ he ÇMve  (i) me s (v) le ke â ye nge fJe ke âuh e erÙe  he ÇMve 

nQ~ h e ÇlÙe ske â  heÇMve  kes â  efueS  e foÙe s i e Ùe s Ûe e j  e fJe ke â uhee W c e W me s Skeâ mener 

e fJe ke âuhe  Ûegve vee  nw~ pe yee fke â  he ÇMve  (vi) me s (xi) le k e â mener Ù ee ieuele 

he Çke âe j  ke s â he ÇMve  nQ~ 

(iv) he ÇMve  meb KÙe e  2 me s 9 le ke â  De e fle ue Ie tòe j e lce k e â  he ÇMve  nQ efpe ve ceW h e ÇlÙe ske â 

he ÇMve  2 De b ke âe W k e âe  nw~ he Çl Ùe sk e â k e âe  G òej  me e ce e vÙe le :  30 Me yoe W mes 

De e fOe ke â  ve ne R ne sve e  Ûee e fnS ~ 

(v) he ÇMve  me b KÙe e  10 me s 17 le ke â ue Ie tòe j e lce ke â he ÇMve  nQ efpe ve ce W h e ÇlÙe ske â 

he ÇMve  4 De b ke âe W k e âe  nw~ he Çl Ùe sk e â k e âe  G òej  me e ce e vÙe le :  60 Me yoe W mes 

De e fOe ke â  ve ne R ne sve e  Ûee e fnS ~ 

(vi) he ÇMve  me b KÙee  18 me s 20 le k eâ  J Ùe e KÙ e e lce ke â he ÇMv e  nQ e fpe ve ce W h e ÇlÙe skeâ 

he ÇMve  7 De b k eâe W ke âe  nw~ he ÇlÙ e ske â ke âe  G òe j  mee cee v Ùe le : 130 Me yoe W mes 

De e fOe ke â  ve ne R ne sve e  Ûee e fnS ~ 
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(vii) me Ye e r JÙee KÙ e e lc e ke â he ÇMve e W ce W De e vle e fj ke â Útš Ghe ue yOe  nw~ S sme s he ÇMve eW 

ce W me s Dee he ke âe s k es âJe ue  Skeâ ne r he ÇMve  ke âj ve e  nw~ 

(viii) Me yo-me e rc e e  me t$e e W , meb KÙe e lce k eâ l e L e e  jsKe e e fÛe $e  Je e ue s h e ÇMvee W he j  ue e iet 

ve ne R nw~ 

General Instructions :  

(i) All questions are compulsory. 

(ii) Marks for questions are indicated against each. 

(iii) Question No. 1 is divided into eleven (i-xi) 

objective type questions. Each question carries 

1 mark. From questions (i) to (v) are multiple 

choice type questions. One correct option has 

to be chosen out of four options in each 

question. While questions (vi) to (xi) are of True 

and False type questions. 

(iv) Question Nos. 2 to 9 are very short answer 

type questions carrying 2 marks each. Answer 

to these should normally not exceed 30 words 

each. 

(v) Question Nos. 10 to 17 are short answer type 

questions carrying 4 marks each. Answer to 

these should normally not exceed 60 words 

each. 
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(vi) Question Nos. 18 to 20 are long answer  type 

questions carrying 7 marks each. Answer to 

these should normally not exceed 130 words 

each. 

(vii) Internal choice is available in all long answer 

type questions. You have to attempt only one 

of the given choice. 

(viii) Word limit is not applicable to formulae, 

numerical and diagrammatical questions. 

[ Jemlegefve… heÇMve ] 

[  Objective Type Questions ] 

 e fve cvee fue e fKe le  he ÇMve e W ke s â mener e fJe k e â uhe  Ûe ge fve Ù es : 

 Choose the correct alternatives of the following 

questions : 

 1. (i) efvecveefueefKele ceW mes keâewve-mee meceef„ DeLe&Meem$e keâe DeOÙeÙeve nw ? 1 

  (a) JÙeeheej ÛekeÇâ 

  (b) GheYeesòeâe meblegueve 

  (c) Heâce& keâe mevlegueve 

  (d) FveceW mes keâesF& veneR 
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  Which of the following is study of Macro-

Economics ? 

  (a) Trade Cycles 

  (b) Consumer's Equilibrium 

  (c) Firm's Equilibrium 

  (d) None of these 

 (ii) GheYeesòeâe meblegueve leye heÇehle keâjlee nw peye Gmes efceueleer nw : 1 

  (a) DeefOekeâlece DeeÙe  

  (b) DeefOekeâlece neefve 

  (c) DeefOekeâlece mevlegef„  

  (d) FveceW mes keâesF& veneR 

  Consumer attains equilibrium when he gets : 

  (a) Maximum income  

  (b) Maximum loss 

  (c) Maximum satisfaction 

  (d) None of these 
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 (iii) ceeBie JekeÇâ keâe {ueeve neslee nw :   1 

  (a) Oeveelcekeâ 

  (b) $e+Ceelcekeâ 

  (c) OX-De#e kesâ meceeveevlej 

  (d) OY-De#e kesâ meceeveevlej 

  The slope of demand curve is : 

  (a) Positive 

  (b) Negative 

  (c) Parallel to OX 

  (d) Parallel to OY 

 (iv) MC JekeÇâ AC JekeÇâ keâes Gme efmLeefle ceW keâešlee nw peye : 1 

  (a) AC veerÛes keâer Deesj efiej jner nw 

  (b) AC Thej keâer Deesj G" jner nw 

  (c) AC vÙetvelece nw 

  (d) FveceW mes keâesF& veneR 
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  MC curve cuts AC curve when : 

  (a) AC curve is falling 

  (b) AC curve is rising 

  (c) AC curve is minimum 

  (d) None of these 

 (v) SkeâeefOekeâej kesâ Debleie&le Heâce& kesâ ceeBie JekeÇâ keâe mJe™he keäÙee nw ? 1 

  (a) hetCe& ueesÛeoej  

  (b) hetCe& yesueesÛeoej 

  (c) keâce ueesÛeoej  

  (d) DeefOekeâ ueesÛeoej 

  What is the shape of firm's demand curve 

under monopoly ? 

  (a) Perfectly elastic 

  (b) Perfectly inelastic 

  (c) Less elastic  

  (d) More elastic 
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 e fve cve  ke â Le ve  mener nwb  Ùe e  ieuele, y e le e FS  : 

 State whether the following statements are True 

or False : 

 (vi) Glheeove mebYeeJevee JekeÇâ keâe Deekeâej meerOeer jsKee neslee nw~ 1 

  Shape of production possibility curve is a 

straight line. 

 (vii) mesyeeW keâer keâercele keâce nesves hej GheYeesòeâe Gvekeâer DeefOekeâ cee$ee 

Kejerosiee~   1 

  A consumer will buy more quantity of apples 

when their price falls. 

 (viii)mLeeveeheVe JemlegDeeW keâer ceeBie ueesÛeoej nesleer nw~ 1 

  Demand for substitute good is elastic. 

 (ix) DeJemej ueeiele DeJemej keâe lÙeeie nw~  1 

  Opportunity cost is an opportunity lost. 

 (x) hetefle& mše@keâ mes Yeer DeefOekeâ nes mekeâleer nw~ 1 

  Supply can exceed stock. 



 ( 10 ) 2911/ (Set : B) 

2911/ (Set : B) 

 (xi) mecemlej efyevog DeefOekeâlece ueeYe keâes oMee&lee nw~ 1 

  Breakeven point shows maximum profit. 

[ DeefleueIetòejelcekeâ heÇMve ] 

[ Very Short Answer Type Questions ] 

 2. yepeš jsKee keâer heefjYee<ee oW~ 2 

 Define budget line. 

 3. hetjkeâ JemlegSB keäÙee nesleer nQ ? GoenjCe oW~ 2 

 What are complementary goods ? Give examples. 

 4. ceeBie keâer keâercele ueesÛe keâes ceeheves keâe met$e oW~ 2 

 Give the formula to measure price elasticity of 

demand. 

 5. kegâue Glheeo DeefOekeâlece keâye neslee nw ? 2 

 When is total output maximum ? 

 6. heefjJele&veMeerue ueeiele cetue efyevog mes DeejcYe keäÙeeW keâer peeleer nw ? 2 

 Why do variable cost start from the point of 

origin ? 
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 7. F„lece Glheeove efkeâmes keânles nQ ? 2 

 What is optimum output ? 

 8. MetvÙe ueesÛehetefle& mes keäÙee DeefYeheÇeÙe nw ? 2 

 What is meant by zero elastic supply ? 

 9. keâercele efJeYeso efkeâmes keânles nQ ? 2 

 What is meant by price discrimination ? 

[ ueIetòejelcekeâ heÇMve ] 

[ Short Answer Type Questions ] 

10. JÙeef„ DeLe&Meem$e keäÙee nw ? 4 

 What is Micro-Economics ? 

11. ceeBie JekeÇâ keâe {ueeve Oeveelcekeâ efkeâve heefjefmLeefleÙeeW ceW neslee nw ? 4 

 Under what conditions, a demand curve has 

positive slope. 

12. Skeâ GheYeesòeâe efkeâmeer Jemleg keâer 10 FkeâeF&ÙeeB Kejerolee nw peye Fmekeâer 

keâercele 5 ®heÙes heÇefle FkeâeF& Leer~ peye Gme Jemleg keâer keâercele 4 ®heÙes heÇefle 

FkeâeF& nes ieF& lees Gmeves Gme Jemleg keâer 12 FkeâeF&ÙeeB Kejeroer~ Gme Jemleg 

keâer Gme keâercele hej ceeBie keâer ueesÛe keäÙee nesieer ? 4 
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 A consumer purchased 10 units of a commodity 

when its price was Rs. 5 per unit. He purchased 

12 units of the commodity when its price falls to 

Rs. 4 per unit. What is the elasticity of demand 

for the commodity at that price ? 

13. Iešles meerceevle heÇefleheâue kesâ efveÙece keâer mebef#ehle JÙeeKÙee leeefuekeâe leLee 

jsKeeefÛe$e keâer meneÙelee mes keâjW~ 4 

Explain in brief the law of diminishing marginal 

return with the help of a table and diagram. 

14. hetCe& heÇefleÙeesieer yeepeej keâer keâesF& Ûeej  cenòJehetCe& efJeMes<eleeSB meb#eshe ceW 

efueKeW~  4 

Explain in brief any four important 

characteristics of a perfectly competitive market. 

15. hetefle& kesâ mebkegâÛeve keâer OeejCee keâes jsKeeefÛe$e keâer meneÙelee mes mecePeeFS~ 4 

Describe the concept of contraction of supply 

with the help of a diagram. 

16. efveÙev$eCe keâercele leLee meceLe&ve keâercele keâe DeLe& efueKeW~ 4 

Write the meaning of control price and support 

price. 
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17. `SkeâeefOekeâej' leLee `SkeâeefOekeâejer heÇefleÙeesefielee' kesâ yeerÛe Devlej yeleeFS~ 4 

 Distinguish between 'monopoly' and 'monopolistic 

competition'. 

[ JÙeeKÙeelcekeâ heÇMve ] 

 [ Long Answer Type Questions ] 

18. ceeBie ceW efJemleej leLee mebkegâÛeve Deewj ceeBie ceW Je=efæ leLee keâceer keâer 

jsKeeefÛe$eeW mes JÙeeKÙee keâjW~ 7 

 Explain with diagram extension and contraction 

in demand and increase and decrease in demand. 

DeLeJee 

OR 

 ceeBie keâer keâercele ueesÛe mes Deehe keäÙee mecePeles nQ ? Fmes heÇefleMele Ùee 

Deevegheeeflekeâ efJeefOe Éeje kewâmes ceehee peelee nw ? 2, 5 

 What do you understand by price elasticity of 

demand ? How is it measured by percentage or 

proportionate method ? 
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19. hetCe& yeepeej ceW Deuhekeâeue ceW efkeâme heÇkeâej Skeâ Heâce& Éeje DeeflemeeceevÙe 

ueeYe keâceeÙee peelee nw ? jsKeeefÛe$e Éeje yeleeFÙes~ 7 

 How a firm earns supernormal profit in short 

period under perfect market ? Show with 

diagram. 

DeLeJee 

OR 

 hetCe& yeepeej ceW oerIe&keâeue ceW efkeâme heÇkeâej Skeâ Heâce& meeceevÙe ueeYe heÇehle 

keâjleer nw ? jsKeeefÛe$e Éeje yeleeFS~ 7 

 How a firm earns normal profit in long period 

under perfect market ? Show with diagram. 

20. `yeepeej meblegueve' mes keäÙee DeefYeheÇeÙe nw ? ceeBie ceW heefjJele&ve keâe Fme 

mevlegueve hej keäÙee heÇYeeJe heÌ[lee nw ? 2, 5 

 What is 'Market Equilibrium' ? What is the effect 

of change in demand on market equilibrium ? 



 ( 15 ) 2911/ (Set : B) 

2911/ (Set : B) P. T. O. 

DeLeJee 

OR 

 ke=âef<e meceLe&ve keâercele mes keäÙee DeefYeheÇeÙe nw ? peye mejkeâej yeepeej keâercele 

mes Thej keâercele leÙe keâjleer nw, lees Fmekeâe keäÙee heÇYeeJe heÌ[lee nw ? 2.5 

 What is agriculture support price ? What 

happens when government fixes more price than 

the market price ? 

SSSS 

 


